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General Knowledge of Chhattisgarh
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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 146587451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

According to census 2011, Chhattisgarh is the most populous state in the country.
Options :

1465871801. * seventh

1465871802. * nineteenth

1465871803. * tenth

1465871804. ¥ sixteenth

Question Number : 1 Question Id : 146587451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

2011 B SFTUAT & SR, FURNTG G-I DI Y 3 SIEREAT aTelT T g |
Options :

1465871801. % rddi

1465871802. % JIAga]

1465871803. ¥ Ggdi




1465871804. ¥ T4l

Question Number : 2 Question Id : 146587452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a Kharif crop in Chhattisgarh?
Options :

1465871805. ¥ Kodo

1465871806. ¥ Kutki

1465871807. * Barley

1465871808. ¥ Chickpea

Question Number : 2 Question Id : 146587452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fafafed & § o O sxiaTe & % Bad T8 82
Options :

1465871805. # ®lal (Kodo)

1465871806. ¥ TPl (Kutki)

1465871807. * ST (Barley)

1465871808. ¢ hIgail =+ (Chickpea)

Question Number : 3 Question Id : 146587453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which among the following terms was used in the ancient times to refer to the areas broadly corresponding modern day Chhattisgarh?
Options :

1465871809. # Deccan

1465871810. ¥ Dakshin Kosala

1465871811. % Amarkantak

1465871812. # Indraprastha



Question Number : 3 Question Id : 146587453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

g d1a H, fafaRad & 3 {69 2rsg &1 IahT 34 &3 & Yaftd = & ford foam Sirdn ot S fawga U ¥ Sy S<irTg & siard
3T ]2

Options :

1465871809, % S

1465871810. ¥ SI&UT B

1465871811, % 3[HRhch

1465871812, ¥ SgUXJ

Question Number : 4 Question Id : 146587454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who among the following made Ratnapur his new capital and developed it into one of the biggest cities of the time in the Mahakosala region?
Options :

1465871813. ¥ Jajalldev

1465871814. ¥ Ratnadev

1465871815. ¥ Rajdev

1465871816. * Mahadev

Question Number : 4 Question Id : 146587454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafafad # 9 forem IATqR &1 310 718 ST ST 31R 39 ARThId &3 & daplad 9ad ds e’ § 4 U & 0§ fasfyd fear
YT?

Options :

1465871813, % Solcaicd

1465871814, ¢ Ydcd

1465871815. % Ioicd
1465871816. # HAgICd




Question Number : 5 Question Id : 146587455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Raigarh State, which was earlier part of Sambalpur State, was established as a separate State by:
Options :

1465871817. * Bhupdev Singh

1465871818. ¥ Madan Singh

1465871819. * Chakradhar Singh

1465871820. * Jujhar Singh

Question Number : 5 Question Id : 146587455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TG oY, SN Ugd HaUR ST o fG&T AT, &1 370 I fob s Tep 31 I8 o =4 § R0 foam ur

Options :

1465871817. % YUcd Rig
1465871818, ¢ T g
1465871819. % TheR Rig

1465871820. * SR g

Question Number : 6 Question Id : 146587456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the literacy rate among the scheduled tribe population of Chhattisgarh, as per the Census of 2011?
Options :

1465871821. # 47.1 percent

1465871822. # 51.1 percent

1465871823. # 55.1 percent

1465871824. ¥ 59.1 percent



Question Number : 6 Question Id : 146587456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

2011 B SFRTUMT & SR, TG B S SISTT SRS &1 TTeRdT &R fhd-T 82
Options :

1465871821. % 47.1 Ufa=rd

1465871822, % 51.1 Ufa=rd

1465871823, % 55.1 Ufa=rd

1465871824, ¥ 59.1 Ufa=Id

Question Number : 7 Question Id : 146587457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In which district of Chhattisgarh is the Champaran Mela celebrated?
Options :

1465871825. #* Durg

1465871826. * Dhamtari

1465871827. ¥ Raipur

1465871828. * Mahasamund

Question Number : 7 Question Id : 146587457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

JURY AT, BTRATE & b e & w=man Sirar g2
Options :

1465871825, ® gl

1465871826, % YHCRI

1465871827. ¥ MUYR

1465871828. * HglHaq

Question Number : 8 Question Id : 146587458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

In which district of Chhattisgarh is the Kailash cave situated?
Options :

1465871829. #* Dantewada

1465871830. ¥ Bastar

1465871831. #* Sukma

1465871832. ¥ Narayanpur

Question Number : 8 Question Id : 146587458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

H AT T[T, BTG & oy foral & fRyd g2
Options :

1465871829. # dqaral

1465871830. ¥ d¥R

1465871831. # {JhHI

1465871832, % ARTIUGR

Question Number : 9 Question Id : 146587459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Women of the Jamgala village in Chhattisgarh are known for their 'Godna' art. In which district is the Jamgala village situated?
Options :

1465871833, ¥ Sarguja

1465871834. * Balrampur

1465871835. * Surajpur

1465871836. * Korba

Question Number : 9 Question Id : 146587459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



SURTTG & ST TTid B AfGATE 30 TG el & ol Ui g | STHvTan 11 oo foral 7 fRud g2
Options :
1465871833, ¢ TSI

1465871834, ¥ FeRTHYR

1465871835. ¥ YRR
1465871836, % HRE]

Question Number : 10 Question Id : 146587460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Name the folk dance of the Bastar region in which the kids, dressed up in rags and worn out costumes, colour their faces and dance in circles in
front of all the houses in the village.

Options :

1465871837. % Kaksar
1465871838. * Rahas
1465871839. ¥ Jhirliti
1465871840. * Gendi

Question Number : 10 Question Id : 146587460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TER &3 & 39 Al o BT 19 Fa1zC, Forid a= Be-RMA 3R - ufve™ ugd €, 3o 98X 31 € SR T1d & 9+t o_i & arvq
Heferl # T B B

Options :

1465871837. ¥ hhdR

1465871838. * YgH

1465871839, ¢ fSRfafe

1465871840, % T}

Question Number : 11 Question Id : 146587461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Where is the Chhattisgarh High court located?
Options :

1465871841. * Bhilai

1465871842. * Korba

1465871843. * Raipur

1465871844. ¥ Bilaspur

Question Number : 11 Question Id : 146587461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
TG I AT Hel (U 82
Options :

1465871841, % fOraTTg

1465871842, % BRI

1465871843, # MUY

1465871844, ¢ faaQR

Question Number : 12 Question Id : 146587462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which is the highest policy creation body of the Chhattisgarh state government?
Options :

1465871845, ¥ Council of Ministers

1465871846. * Governor

1465871847. # Chief Minister

1465871848. * State Legislature

Question Number : 12 Question Id : 146587462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BTG Iod TRBR b1 Jared i FAfor g o a1 82




Options :
1465871845, ¢ AFHSA
1465871846, ® IoTUTd

1465871847, % AT

1465871848, # Iy fauTRIshT

Question Number : 13 Question Id : 146587463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following cities of Chhattisgarh houses the Chhattisgarh Vidhan Sabha and the Secretariat?
Options :

1465871849. #* Dhamatri

1465871850. * Raigarh

1465871851. * Bilaspur

1465871852. ¥ Raipur

Question Number : 13 Question Id : 146587463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ueTg & FHafiRad 7 3 ford wreR H SeiienTg faurae SR afeared g2
Options :

1465871849, % YHRI

1465871850. * X[U1g

1465871851, % faeiqR

1465871852. ¥ MUYR

Question Number : 14 Question Id : 146587464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which district of Chhattisgarh among the following records the maximum highest average rainfall?
Options :



1465871853. # Jashpur
1465871854, ¥ Korba
1465871855. # Jagdalpur
1465871856. * Sukma

Question Number : 14 Question Id : 146587464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BTG & Hafarad 8§ 4 forg fore & ifiedd ofivTd aui aof gl 82
Options :

1465871853, # SIRIYX

1465871854, ¥ DRI

1465871855. # S[IqeIyr
1465871856. * JDhHI

Question Number : 15 Question Id : 146587465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which district of Chhattisgarh has the maximum percentage of net agricultural sown area?
Options :

1465871857. % Dantewad

1465871858. #* Bilaspur

1465871859. * Sukma

1465871860. ¥ Janjgir-Champa

Question Number : 15 Question Id : 146587465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
BTG & fobr foral B fFaa o garg & ufawra sifteay 82

Options :

1465871857, % daarel




1465871858, % faaiqR

1465871859. % JhHT
1465871860. + STOTIR-TUT

Question Number : 16 Question Id : 146587466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In Chhattisgarh state maximum double crop area is observed in which of the following districts?
Options :

1465871861. ¥ Dhamtari

1465871862. * Sukma

1465871863. * Jagdalpur

1465871864. * Korba

Question Number : 16 Question Id : 146587466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TG e & Faffes aet waa & fafafad § 3 o foret 8 urar sirar g
Options :

1465871861, ¢ YHRI

1465871862. # D HI

1465871863. ¥ SNIGAIUR
1465871864, % HIRE]

Question Number : 17 Question Id : 146587467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Among all the districts of Chhattisgarh district, which district contributes 50% of the total income generated through the minerals in the State.
Options :

1465871865. # Sukma

1465871866. ¥ Korba



1465871867. # Jagdalpur
1465871868. # Bilashpur

Question Number : 17 Question Id : 146587467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FuleTe & it Rl 8§ Q & 91 fre g & Gl & Hierm § Ie oo 3 & 50% BT QTG a1 82
Options :

1465871865, # JpHI

1465871866. ¥ DRI

1465871867. ¥ SWNIGAYR
1465871868. % faei g

Question Number : 18 Question Id : 146587468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which among the following is NOT true with respect to the boundaries of Chhattisgarh?
Options :

1465871869. # Odisha — East

1465871870. # Uttar Pradesh — North

1465871871. # Maharashtra — West

1465871872. ¥ Madhya Pradesh — South

Question Number : 18 Question Id : 146587468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

I B Arreit & e § Fufafad § Q@ o a1 fow ey Taa 72
Options :

1465871869. % 3fifS2 - qd

1465871870. ¥ JITR UG - IR

1465871871, # HERIY - UfIH




1465871872, ¥ T UK - Cf&f0T

Question Number : 19 Question Id : 146587469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The popular performing art of Chhattisgarh Chandaini-Gonda is prominent in which district of Chhattisgarh?
Options :

1465871873. ¥ Dhantewada

1465871874. # Bilaspur

1465871875. * Durg

1465871876. * Kanker

Question Number : 19 Question Id : 146587469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
BTG 1 AB T UG Befl, Te-1-TMsT, T T J SxiTe & Hafafad § § forg fore 3 gefia 32
Options :

1465871873, ¢ ddarel
1465871874, % fa@QR

1465871875, % gil
1465871876, ¥ HIH

Question Number : 20 Question Id : 146587470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT a part of Bastar Tribal art of Chhattisgarh?
Options :

1465871877. * Wood work

1465871878. * Bamboo Art

1465871879. * Terracotta Art

1465871880. ¥ Bihi Art



Question Number : 20 Question Id : 146587470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FofRad § 9 &1 1 BT &1 SR AR} dell &1 fowdr 18l 82
Options :

1465871877. % Wb o b1 DI (Wood work)

1465871878. % 1 &I Bl (Bamboo Art)

1465871879. # CIIPHICT BT (Terracotta Art)

1465871880. ¢ Tafg &l (Bihi Art)

Question Number : 21 Question Id : 146587471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many recognized wildlife sanctuaries are there in Chhattisgarh state?
Options :

1465871881. * 3

1465871882. * 2

1465871883. * 9

1465871884. ¥ 11

Question Number : 21 Question Id : 146587471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TG Ty § fhd= AI-ar T g=oild 3rHIRUY 82
Options :

1465871881. * 3

1465871882, # 2

1465871883. * 9

1465871884. ¥ 11



Question Number : 22 Question Id : 146587472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Chhattisgarh is the only state in India that produced tin concentrates. The state accounts for nearly of tin ore reserves of India.
Options :

1465871885. ¥ 35.4%

1465871886. # 45.4%

1465871887. # 70.4%

1465871888. * 90.4%

Question Number : 22 Question Id : 146587472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TG YR BT UHHE Iod § Sig! fe= Figdl T ST BT IdTeT 8idl & | Ied H HRd & e 3 HSR BT TRTHIT gl
Options :

1465871885, ¢ 35.4%

1465871886. % 45.4%

1465871887. % 70.4%

1465871888, #® 90.4%

Question Number : 23 Question Id : 146587473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The term of Member Of Legislative Assembly isof  years.
Options :

1465871889. * 3 years

1465871890. ¥ 5 years

1465871891. * 1 year

1465871892. * 2 years

Question Number : 23 Question Id : 146587473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
EEERSIER IR TN I G
Options :

1465871889. # 3 I

1465871890. ¥ 5 Il

1465871891. * 1 Il

1465871892, # 2 Il

Question Number : 24 Question Id : 146587474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Chhattisgarh received Krishi Karman Award for the years 2010-11, 2012-13 & 2013-14 for production, year 2014-15 for
productivity and again for the fifth time for 2016-17 for total foodgrains under Category II.

Options :

1465871893. * Wheat; Paddy
1465871894. * Wheat; Pulse
1465871895. ¥ Paddy; Pulse
1465871896. * Pulse; Vegetables

Question Number : 24 Question Id : 146587474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TURATG BT aY 2010-11, 2012-13 3R 2013-14 P @ I, a9 2014-15 IdTehdl & g iR R F 2016-17 H A 11 H
d8d $d T & 1T Uiga! IR HY HHU REBR U g3

Options :

1465871893. ¥ Tg; 4T

1465871894, ¥ Tg; &Il

1465871895. ¥ &T; aIdl

1465871896. % GIdl; oo

Question Number : 25 Question Id : 146587475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

What is the full form of SECL, a coal field in the state of Chhattisgarh?
Options :

1465871897. # South East Carbon Field Limited

1465871898. # Shivaji Eco Coal Field Limited

1465871899. ¥ South Eastern Coal Field Limited

1465871900. # South Eastern Coal Federation Limited

Question Number : 25 Question Id : 146587475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BTG IT BT UH HITal &3 SECL BT Y01 U 7 82

Options :

1465871897. % TT3Y T P WITS [AIfHCS (South East Carbon Field Limited)
1465871898, # RIaTolt 3! dId Wics [AHCS (Shivaji Eco Coal Field Limited)
1465871899, ¢ TT3Y 3% HId WITS fAIHES (South Eastern Coal Field Limited)
1465871900. * HI3Y E‘R%:f PHId BewH fafies (South Eastern Coal Federation Limited)
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Question Number : 26 Question Id : 146587476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An S-Video port allows you to connect your laptop to a television to view your creations on a bigger screen. What does the letter 'S' in S-Video
stand for?

Options :

1465871901. # Sine wave
1465871902. ¥ Super/Separate
1465871903. # Simpler
1465871904. # Synchronous

Question Number : 26 Question Id : 146587476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

? S-S Ui § 3119 AU P Callfqold § drae HRd 30U fhUR=T &) do! WhiH IR ¢l dhd ¢ | S-aifedl H 'S’ 3eR &1 quf &g a1
?

Options :

1465871901. ¥ Sine wave (H13 d4)

1465871902. ¥ Super/Separate (W@W)

1465871903. # Simpler (RIFER)

1465871904. ® Synchronous (RighI-¥)

Question Number : 27 Question Id : 146587477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a toggle key on a computer keyboard?
Options :

1465871905. ¥ Esc

1465871906. # Num lock

1465871907. # Caps lock

1465871908. # Scroll lock



Question Number : 27 Question Id : 146587477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Frfifad # A HH 9 deR Bas R Hive e @1 @i T8 82
Options :

1465871905. ¥ Esc

1465871906. * Num lock

1465871907. * Caps lock

1465871908. * Scroll lock

Question Number : 28 Question Id : 146587478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are FALSE?

(1) Laser printers are non-impact page printers.
(i1) Drum printers are impact printers.

Options :

1465871909. # Only (i)
1465871910. # Only (ii)
1465871911. * Both (i) and (ii)
1465871912. ¥ Neither (i) nor (ii)

Question Number : 28 Question Id : 146587478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fafafea § 4 o T Y9 3Hd 82

(i) ToR fiier, FF-39e U9 fiieR B1d & |
(i) g fliex, slige e EIa &1
Options :

1465871909. ¥ dd (i)

1465871910, % Hdd (ii)



1465871911, # (i) 3R (ii) &FI
1465871912, ¢ I 41 (i) T &1 (ii)

Question Number : 29 Question Id : 146587479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is FALSE?

Options :

1465871913. ¥ RAM is divided into equal size addressable units called pages.
1465871914, ¥ RAM is both, a read and write memory.

1465871915. ¥ DRAM is a volatile memory.

1465871916. ¥ SRAM is a non-volatile memory.

Question Number : 29 Question Id : 146587479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fraffad o @ B 91 HUT 3R 22

Options :

1465871913, % Y (RAM), THM MHR 1 TSHEd (e FH1san H fauiord gt 8, 5= IS we1 S 3|
1465871914, # I (RAM), IS TS 3 HARI I 81

1465871915, ® SRH (DRAM), ddersd HARI B

1465871916. ¥ THXH (SRAM), - dIciersd HHR |

Question Number : 30 Question Id : 146587480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is used to measure the clock speed of a CPU?
Options :

1465871917. ¥ Gigahertz

1465871918. # Seek time

1465871919. # Access time



1465871920. * Bits per second

Question Number : 30 Question Id : 146587480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

9 1 9 foge Iuan ?ﬁtﬂq\ (CPU) P ddlh Wie (clock speed) CIR:ICEE:D fere i %‘?
Options :

1465871917, ¥ TRIECH (Gigahertz)

1465871918, ¥ JHYRU HTd (Seek time)

1465871919, % S{fTITH BT (Access time)

1465871920. * m PIRESCES] (Bits per second)

Question Number : 31 Question Id : 146587481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following options best describes the truthfulness of the below statements?

(1) A magnetic tape consists of vertical columns called channels or tracks.
(i1) A magnetic tape consists of horizontal rows called frames.

Options :

1465871921. * (i) - TRUE; (ii) - TRUE
1465871922. * (i) - TRUE; (ii) - FALSE
1465871923. * (i) - FALSE; (ii) - TRUE
1465871924. ¥ (i) - FALSE; (ii) - FALSE

Question Number : 31 Question Id : 146587481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fFufeRed & 9 &9 91 fawey 2 fU U Y= &) Idar o1 gaiayq guiq &da1 22

(i) G¥PIT U (magnetic tape)ﬁmﬂmﬁﬁm@ﬁ%,%%%m%ww%
(i) 99D G U A afast I (dfdaan g €, fore e w1 omar g |

Options :




1465871921, % (i) - T, (i) - T
1465871922. % (i) - I, (ii) - 3
1465871923, % (i) - 3, (ii) - T
1465871924, ¢ (i) - 3T; (ii) - 3T

Question Number : 32 Question Id : 146587482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following languages is a compilation-based programming language?
Options :

1465871925. # PowerShell

1465871926. # JavaScript

1465871927. # VBScript

1465871928. ¥ Visual Basic 6

Question Number : 32 Question Id : 146587482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fafafad & § S B UIT (G7ao), HUTZARE (compilation) TR TIHTREAT HIST 32
Options :

1465871925. % TIGRRd (PowerShell)

1465871926. % SIAIRGY (JavaScript)

1465871927. # GIEIEhY (VBScript)
1465871928. ¥ TaS[31d 9@ 6 (Visual Basic 6)

Question Number : 33 Question Id : 146587483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the columns and select the most appropriate option from those given below.

a) F# i) Client-side scripting
b) JavaScript it} Open source, cross-platform, functional-first programming language
¢) Drupal iii) Customised markup language
d) XML iv) Open source content management framework
Options :

1465871929. ¥ a —ii; b—1; c —iv; d —iii
1465871930. * a—1;b—1i; c—1iv; d —iii
1465871931. * a—ii;b—1;¢c—1ii; d —1iv
1465871932, * a—iii;b—1;c—1v;d -1

Question Number : 33 Question Id : 146587483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FierAr &1 fFemer w¢ 3R A G v Reet #& @ gafas s9gea ReeT &7 9397 &<

a) F# NEGIEEE SR r=al
b) JavaScript i) 3T Y, FE-SACHH, FalTd-IhEC JITHT TT
c) Drupal iii) FECATSSS ATRIT 19T
d) XML iv) 39T HIE FHe HATHe BHATH
Options :

1465871929. ¥ a —ii; b—1; c —iv; d —1iii



1465871930. #* a—1i;b—ii; c—iv; d—iii
1465871931. #* a—ii;b—1i;c—iii;d—iv
1465871932. # a—iii;b—i;c—iv;d—1

Question Number : 34 Question Id : 146587484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
'DLL' file extension stands for

Options :

1465871933. ¥ Dynamic Link Library
1465871934. # Data Loading Library
1465871935. # Data Linker Language
1465871936. #* Dynamic Loading Linker

Question Number : 34 Question Id : 146587484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

‘DLL WIgd UGS &1 g1 U 1 82

Options :

1465871933. ¥ Dynamic Link Library (S0 feidh AZeRY)
1465871934, ¥ Data Loading Library (S¢T QST ATZaRN)
1465871935, ¥ Data Linker Language (S¢T foiehR diido)
1465871936. % Dynamic Loading Linker (STI-TH® @IS feid)

Question Number : 35 Question Id : 146587485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following languages is used as a server-side scripting language?
Options :

1465871937. ¥ AJAX

1465871938. ¥ PHP



1465871939. # JavaScript
1465871940. ¥ HTML

Question Number : 35 Question Id : 146587485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafafed # QS B U1 (@ae) IaR-a1sS AP Wi & =0 & IuTT St ST 82
Options :

1465871937. * AJAX

1465871938. ¥ PHP

1465871939. # JavaScript

1465871940. ¥ HTML

Question Number : 36 Question Id : 146587486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Read the following statements carefully and select the most appropriate option with regards to the truthfulness of each statement.

a) FORTRAN was developed by IBM.
b) MariaDB is an open source relational database management system.
c¢) Java language was developed by Sun Microsystems.

Options :

1465871941. ¥ a) — TRUE; b) — TRUE; c¢) — TRUE
1465871942. # a) — FALSE; b) — TRUE; c¢) - TRUE
1465871943, # a) — FALSE; b) — FALSE; ¢) - TRUE
1465871944, # a) — TRUE; b) — FALSE; c) - TRUE

Question Number : 36 Question Id : 146587486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FAfIRed Hul &1 & A U¢ 3R Td® B &1 Idd & dey T Faiie Iuged fadmed &1 aa B |
a) FORTRAN, IBM gRT fasRid foam mar o1



b) MariaDB, T& 31U I RavMd Seray Aaode Ren gl
¢) SITaT 1A, T HISh IR gRT fasRid o1 718 Y|
Options :

1465871941, ¢ a) - Id: b) — II; ¢) — T

1465871942, # a) — 3H; b) — I; ¢) — A

1465871943, # a) — 3{; b) — 3I; ¢) — T

1465871944, # 2) —I; b) — 3T; ¢) - T

Question Number : 37 Question Id : 146587487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which web browser is developed by Microsoft Corporation?
Options :

1465871945. # Chrome

1465871946. ¥ Internet Explorer

1465871947. % Opera

1465871948. # Safari

Question Number : 37 Question Id : 146587487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

DI TT 39 TSR HISHIGTUe HTURTA gRT fasRid far man g2
Options :

1465871945, % HIH

1465871946. ¥ eI TRWRR

1465871947, % 3fURT

1465871948, % THIRY

Question Number : 38 Question Id : 146587488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



What is https://www.geeksforgeeks.org/client-server-model/ ?
Options :

1465871949. ¢ client-server

1465871950. # peer-to-peer

1465871951. # client-client

1465871952. # pool of server

Question Number : 38 Question Id : 146587488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
https://www.geeksforgeeks.org/client-server-model/ Il %?
Options :

1465871949, ¥ FATSC-HaR

1465871950. ¥ URR-C-URR

1465871951, ¥ dlgc-adlec
1465871952, ® Ud 3{1th Jav

Question Number : 39 Question Id : 146587489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which web browser is installed by default with new Window computers and cannot be downloaded or installed separately?
Options :

1465871953. ¥ Microsoft Edge

1465871954, * Safari

1465871955. # Chrome

1465871956. * Mozilla

Question Number : 39 Question Id : 146587489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

I T 39 STITR T [ISIT SR & 1Y fEthice U J ST BIa & 3R 3 ST Y SIS A1 S%Td ol [T off Tehdl 87

Options :




1465871953. ¥ HIZHIGIUC TSl (Microsoft Edge)
1465871954, % W] (Safari)

1465871955. # I (Chrome)

1465871956. % TISIAT (Mozilla)

Question Number : 40 Question Id : 146587490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which is NOT a network device from the following list?
Options :

1465871957. % Switch

1465871958. ¥ MODEM

1465871959. ¥ Hub

1465871960. ¥ Internet

Question Number : 40 Question Id : 146587490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
fruforiad =t 7 @ &9 1 Aead fearza T8 82
Options :

1465871957, % R

1465871958, ® HisH

1465871959, ¥ g4

1465871960, ¢ Sc3C

Question Number : 41 Question Id : 146587491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Find the methods used for unguided media from the following list.

Twisted pair, microwave, coaxial cable, infrared, radio wave, optical fibre
Options :



1465871961. * microwave, coaxial cable, infrared, radio wave
1465871962. ¥ microwave, infrared, radio wave

1465871963. #* microwave, infrared, radio wave, twisted pair
1465871964. # infrared, radio wave, optical fibre

Question Number : 41 Question Id : 146587491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafaRad It ¥ SR (3FEes) Hifgar & fag SuahT & i aref! fafey 3 &1
feRcE USR, AP, HIURITA had, SHRS, Yol d4d, JHPHd BIEeR

Options :

1465871961, % HIZHIAd, HITRITA Had, PR, A dd
1465871962. ¢ HIZHhIdd, SRS, el dd

1465871963. ¥ TIShIdd, SRS, e 99, fgd g USR
1465871964. % 3RS, AT 9a, 3HPHA BIIer

Question Number : 42 Question Id : 146587492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Match the following.

A)LAN 1) Network spread over a city or nearby corporate offices

B) MAN 2) Network spread over large geographical area across countries and continents

C) PAN 3) Computer network that is confined to a local area, office or within a building

D) WAN 4) Small network, used to establish communication between computer and other hand-held
devices in small proximity up to 10 metre

Options :
1465871965. ¥ A-3;B—-1;C—-4;D -2



1465871966. * A-3;B-1,C-2;D—-4
1465871967. # A-3;B-2;C-4;D -1
1465871968. #* A-3;B-4;,C-1;D-2

Question Number : 42 Question Id : 146587492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

rRET # 1 Fea #:

A) 3 (LAN) 1) THT Acas, S BET @Y a1 HTE-919 & HAe Hraredr J $ell giar g

B) #F (MAN) | 2) U&T =g, =t &aif 3R #gredr 7 & sitenfors &y 7 e glar ¢

C) ¥ (PAN) | 3) ¥&T Fogex, #cas A fhdll T &9, FEed O T #aa & fiaw @iffa
g §

D) 3 (WAN) | 4) OieT seash, St 10 HeX a & OIel feished! H FAleg g 3R 3o §5-808
390 3§19 TOR TG e & fore 39ger R 3 §

Options :

1465871965. ¥ A-3;B-1;C-4,D -2
1465871966. #* A-3;B-1,C-2;D-4
1465871967. #* A-3;B-2;C-4;,D-1
1465871968. * A-3;B-4;,C-1;D-2

Question Number : 43 Question Id : 146587493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

CLI stands for

Options :

1465871969. ¥ Command Line Interactivity



1465871970. ¥ Common Library Interface
1465871971. ¥ Command Linked Interface
1465871972. ¥ Command Line Interface

Question Number : 43 Question Id : 146587493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

CLI &1 quf &Y &7 87

Options :

1465871969, % HHIS TS Sexfdeide! (Command Line Interactivity)
1465871970, % AT ATZSR] 3EXW Y (Common Library Interface)
1465871971, ® HHiS foids ‘éCQCI”{-I (Command Linked Interface)
1465871972, ¢ HHIS IS éCQChH (Command Line Interface)

Question Number : 44 Question Id : 146587494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Windows 7 is a GUI-based operating system.
Options :

1465871973. ¥ Multitasking

1465871974. # Single tasking

1465871975. ¥ Command oriented

1465871976. # Hybrid

Question Number : 44 Question Id : 146587494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Windows 7 Tch GUI IR SR Rew %I
Options :

1465871973, ¥ HeT|-CIRDI

1465871974, % RATTQ-CTRBT



1465871975, % HHIS-MNTCS

1465871976. % BISfoS

Question Number : 45 Question Id : 146587495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an operating system?
Options :

1465871977. ¥ Mac OS

1465871978. ¥ JVM

1465871979. # Kali Linux

1465871980. # DragonFly

Question Number : 45 Question Id : 146587495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
fFofeiad # 3 o1 T SR Red 181 &2
Options :

1465871977. ¥ Mac OS

1465871978. ¥ JVM

1465871979. # Kali Linux

1465871980. ¥ DragonFly

Question Number : 46 Question Id : 146587496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following buttons is NOT found in the upper-right corner of almost every window?
Options :

1465871981. ¥ Minimize

1465871982. ¥ Maximize

1465871983. # Close

1465871984. ¥ Open



Question Number : 46 Question Id : 146587496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafaRad & I & 91 g ay w4t f[dSe & S0 g & § Hivlg 18] gidl 82
Options :

1465871981, % fBFIATES (Minimize)

1465871982, * AfRIATSST (Maximize)

1465871983. % TSI (Close)
1465871984. ¢ 31U (Open)

Question Number : 47 Question Id : 146587497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In Microsoft PowerPoint 2013, Which of the following is NOT a valid ‘view’ option?
Options :

1465871985. # Slide Sorter

1465871986. # Outline View

1465871987. # Reading View

1465871988. ¥ Presentation Views

Question Number : 47 Question Id : 146587497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ﬁg‘%‘f@ﬁ e ﬁ:[ T Microsoft PowerPoint 2013 o[ Udh HI fapeg :lﬁ%V
Options :

1465871985, % WSS A

1465871986. % 3{T3Ccllgd &

1465871987. ® ST

1465871988, ¥ USICR- oH



Question Number : 48 Question Id : 146587498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In an MS Word table, what happens if you press Alt + PgDn?
Options :

1465871989. # Cursor moves to the next cell

1465871990. # Cursor moves to the previous cell
1465871991. % Cursor moves to the last cell in the column
1465871992, # Cursor moves to the first cell in the column

Question Number : 48 Question Id : 146587498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

MS Word T8d H, Alt + PgDn &M TR &1 T2
Options :

1465871989. # HUT STCH T H Il ST
1465871990. # HUR el TA H Tl SITEMm
1465871991, ¢ HUI BITH D1 ATRIT TA H IAT ST
1465871992, % HU BITH DI Uga! T H Il ST

Question Number : 49 Question Id : 146587499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following formula is used to Count the number of non-empty cells in the specified range?
Options :

1465871993. ¥ =COUNT(range)

1465871994, ¥ =COUNTA (range)

1465871995. ¥ =COUNTBLANK (range)

1465871996. ¥ =LEN(range)

Question Number : 49 Question Id : 146587499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

fopaft FATEE T & 1) €2 (non-empty) & &1 T o1 0T & fore Fgfafad & @ forg 9 o1 SuanT forar S g2
Options :

1465871993. ¥ =COUNT(range)

1465871994, ¥ =COUNTA (range)

1465871995. ¥ =COUNTBLANK(range)

1465871996. ¥ =LEN(range)

Question Number : 50 Question Id : 146587500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many special effects are available under ‘Emphasis’ in Animation group in Animations tab, in PowerPoint 20167
Options :

1465871997. % 45

1465871998. ¥ 19

1465871999. # 55

1465872000. * 65

Question Number : 50 Question Id : 146587500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

PowerPoint 2016 ﬁ, Q:ﬂﬂ'-‘l'l:f %a%, Q:ﬂﬁ-'{l:f a4 & ‘Emphasis’ T fpd- Wwrd ?g'm Waﬁ%7
Options :

1465871997. # 45

1465871998. ¥ 19

1465871999. # 55

1465872000. * 65



